SBU — Flash Card Questions and Answers — LessLn 4

Which suit do you open?

Q 7 Your partner opens 1a and you
hold 4 cards in Spades and 13 HCP's.

What do you bid?

Q9 You open 1a and Responder
bids 3as.

What does that mean?

Q1 Whatis meant by Responder Q 2 What do you need in order to open
making a limit bid? 1 Heart?
Q 3 If you have 5 Diamonds and 4 Q4 If you have 4 Clubs and 4
Spades. Diamonds.
Which suit do you open? Which suit do you open?
Q5 Ifyou hold 4 Clubs and 4 Hearts. Q6 If you hold 5 Spades and 5

Hearts. Which suit do you open?

Q 8 You open 1a and Responder
bids 2 #.

What does that mean?

Q 10 Define the term “support for
partner’s suit”
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A 2 You need to have 4+ cards in
the Heart suit and 12 — 19 HCP’s

A 4 Bid the Clubs first — bid the
lower of two 4 card suits of the same
rank.

A6 Spades. With two 5 card suits,
bid with the higher ranking suit first.

A 8 Responder has 4+ cards in the
Spades suit.

His point range is 6 — 9 HCP.

A10 You are looking for an 8 card
FIT. You can support your partner’s
bid suit when the partnerships has 8+
cards in the suit. If partner has
promised 4 cards and you have 4
then you have a fit and can support.

Al When Responder makes a limit bid he
shows his HCP count within a narrow range. e.g.

Opener Responder
le 29
(6-9 HCPs + 4 card support in hearts)
1l INT

(6-9 HCPs No 4-card support in hearts)

A 3 Diamonds — bid your longest
suit first.

A5 Hearts. With two 4 card suits
of different rank,

bid the major suit first.

A7 You know that the partnership
holds a total of 25+ HCP and that is
enough for game. You also know
that you have a FIT in Spades.

Bid 44

A 9 Partner has 4+ cards in Spades
and 10 — 12 HCP.
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